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1 Tun gpomMma

1590 000 py6.

Mnowaab - 100 KB.M



1 Tun goma

0% NMEPBOHAYAJIbHbIV B3HOC!

MnateXx B mecqaL,

11 000 - 17 000 py6.

AOXO/ (exxemecsauHbln ¢ 1 MecaLa)

25 000 - 30 000 py6.

1 Orax
Jr—
g ‘
== 8.0m°
— [ % -
Ky
iriay N
TNIEL foekd,
E‘“ NE Tlm/yp K'\)ﬂyu[m{?ag/
(Cnanskn 18w 4.0m
KX ) —
2spyen  2poyea | [ |/
| Teppa
i i
o
Nnowans 97w’ %

16 yenosex

2 Orax
I—
N\ T T T Ry
ST
LIy { 290 2horcs
Cnanous
10,7




2 Tun goma
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2 Tun gomMma

O% NMEPBOHAYAJIbHbIV B3HOC!

MnarteXx B mecqal,

14 500 - 23 000 py6.

AOXO/ (exxemecsauHbln ¢ 1 MecaLa)

1 Orax 2 Orax

3 - -
B\JZ spyca [ i :\ |

Cnan
] v 2 spy

—1 B B ™
Fz Apyca / 4 l spyca
T N
I®) 22m il )
[~ LA sow H— L
T —H T 7,
N
. ([ ¢
i |

|
.
=1 W
FOCTUHAS = KyXHA/CTONOBAR e ey >
Aty 1
_El ’

| —

! /
2 4 b } fy i |
25,5m \‘\»vl | Cgaonh}m E= l—*‘r'Bropoﬁ caer\“’]
) OM e )
Y | L HH =N - A
11 o

o

TE = —=

MNnowaas 86M
14 yenosex




CTPOEHVE OOMA

brok - xay3 30 MM
+ MPOrnunTKA
AQHTUCENTMKOM
BeTpo3awmTta 1 MM
MmnHmBaTa 50 MM
MunHmBaTa 50 MM

MmHmeaTa 50 MM
Donbromnsorn
Barodka




3EMEJIbHDbIE YYACTKUA
ot 600 000 oo 1500 000 py6
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